Paper 1 Section A(1)

E—EE8 (1)

Example f5l=& :

42
and express your answer with positive indices. (3)

1. Simplify

b3

(ab™)?
b3

{EfS » WLATEFEHRTES © (3)

04



2. Factorize A& (1+2)

(a) x*-3x-4,
(b) xy’+y’+x*-3x-4.
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3.

(a) Round up 454.54 to 2 significant figures. (1+1+1)
14 454.54 LI AZEMUBBMEF © (1+1+1)

(b) Round off 454.54 to 1 decimal place.
14 454.54 I8 AE—{/NEX o

(c) Round down 454.54 to the nearest integer.
1 454.54 THEAERIZITAVEESY o

06



4. Consider the formula 3(2a-b)=4a+2. (2+2)
EZEAT 3(2a-b)=4a+2°(2+2)

(a) Make b the subject of the above formula.
L b A LEMARNEIS o

(b) Ifthevalue of aisincreased by 3, write down the change in the value of b.
= afELEM 3 > Bik b BYERYSREE -
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5.

In a chess club, there are 270 members and the number of male members is 25%
more than the number of female members. Find the difference of the number of
male members and the number of female members. (4)
FHZEEH2I0ZEEHESEEAURLEEAHNZ 25% KBEGEABELES
ANBZ%E ° (4)
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Let f(x) = 3x* + 10x” - 9x + k, where k is a constant. When f(x) is divided by x - 3, the
remainder is 140. (3+2)
BRX) =3+ 10x° - 9x+ k » HF k &A—E 8 o B f(x) BRI x - 3 BF » BREXA 140 o (3+2)

(a) Isx-1afactor of f(x)? Explain your answer.

x- 127 f(x) AR ? BRRHNER -

(b) Someone claims that all the roots of the equation f(x) = 0 are rational

numbers. Do you agree? Show your works.
EAEWARE f(x) = 0 FIENRISARIEY - (MEEEER ? BEFNEE -



7. The coordinates of the points A and B are (-2, 6) and (3, -4) respectively. A is
rotated anticlockwise about the origin O through 270° to A’. B is translated
leftward by 9 units to B’. (2+3)

BEA KB BRIRIEDRE (-2, 6) & (3, -4) c AEIRE O B A AEE 270° E A’ o
B mAF# 9 BAIE B’ © (2+3)

(a) Write down the coordinates of A’ and B’.
B AR B RYAZ o

(b) Prove that ABis perpendicularto A'B’.
FERH AB EEHINA'B ©

10



8. The table below shows the distribution of the number of books read by some
students this month. (3)

TRET—EELEARESENHEENI M - (3)

Number of books £Z<HE B 0 1 2 3

Number of students 24 A &k 9 18 12 1

Find the median, the mode and the standard deviation of the above distribution.
KM PAIE « REURAFEEE o
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9.

In the figure below, D, F and G are points lying on AB, BC and AC respectively.
BG and DF intersect at the point E. It is given that BC = BG, AB//GF, £CAB = 34° and

ZCBG =56°. (3+2)

B TH D-FRGARMAABBCKRAC LHE -BG R DFHERXNE E. B

BC=BG ~ AB//GF ~ £CAB =34° 52 £ZCBG =56° ° (3+2)

B

A G C
(a) Find R ZABG.

(b) Let «BDF=0. Express ZFEG in terms of 0.
iR 2£BDF=00° L0 FLFEG o
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